VCE & PDF https://www.passapply.com/vcad510.html
2024 Latest passapply VCAD510 PDF and VCE dumps Download

PassApply.com

VCAD510%%As

VMware Certified Associate — Data Center Virtualization (VCA-DCV)
Exam

Pass VMware VCAD510 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/vcad510.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest VCAD510 Dumps | VCAD510 VCE Dumps | VCAD510 Study Guide 1/3


https://www.passapply.com/vcad510.html
https://www.passapply.com/vcad510.html
https://www.passapply.com/vcad510.html

VCE & PDF https://www.passapply.com/vcad510.html
2024 Latest passapply VCAD510 PDF and VCE dumps Download

PassApply.com

QUESTION 1

What is a virtual switch used to do? (Choose two.)
A. Replace physical switches to save money.

B. Connect VMs to the physical network.

C. Connect the ESXi OS to the physical network.
D. Connect to Fibre Channel storage.

Correct Answer: AB

Reference: http://pubs.vmware.com/vsphere-55/index.jsp?topic=%2Fcom.vmware.vcli.examples.doc %
2Fcli_manage_networks.11.2.html

QUESTION 2

What is a scalability challenge that vSphere can address?

A. Virtual machines require less administration

B. Servers can be overclocked to provide extra processing speed
C. CPUs and Memory can be added to servers without an outage
D. Virtual networks have more capacity than physical networks
Correct Answer: C

Reference: http://www.yellow-bricks.com/2012/01/16/enabling-hot-add-by-default-cc- gabvirtualworld/

QUESTION 3

You are planning to deploy a new VMware environment. The team leader of the networking team has requested the
ability to monitor virtual machine traffic in order to maintain the physical network more efficiently. Which option provides
this capability?

A. Create a distributed port group and configure port mirroring

B. Create a standard port group and use Cisco Discover Protocol (CDP)

C. Create a standard port group and use Link Layer Discovery Protocol (LLDP)

D. Create a distributed port group and use Network 1/0 Control (NIOC)

Correct Answer: A

Reference: http://blogs.vmware.com/vsphere/2013/01/vsphere-5-1- vds-feature-enhancements-portmirroring-
part-1.html
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QUESTION 4

Your organization has a cluster of ESXi hosts that all have local storage devices, including Solid State Drives. You wish
to take advantage of this storage for your VMs, but you don\\'t want to sacrifice the vSphere abilities granted by having
shared storage. Which of the following is an appropriate solution?

A. Use Storage DRS to create a cluster of the local datastores

B. Use Storage vMotion to move the VMs to local datastores

C. Implement Storage 1/0 Control on the local datastores

D. vSphere Storage Appliance (VSA)

Correct Answer: D

QUESTION 5

Your manager wants to know how virtual machines are going to benefit the organization. What two statements
accurately explain what virtual machines do? (Choose two.)

A. Allow users to recover deleted files themselves.
B. Reduce your application licensing costs.

C. Provide higher up time than physical servers.
D. Reduce the number of physical servers.

Correct Answer: BD
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